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2.111 The effective antenna temperature of an antenna looking toward zenith is approximately

5 K. Assuming that the temperature of the transmission line (waveguide) is 72°F, find the

effective temperature at the receiver terminals when the attenuation of the transmission line
15 4 dB/100 ft and its length is
(a) 2 ft (b) 100 ft

Compare 1t to a receiver noise temperature of about 54 K.
Modified so the transmission line temperature is 88°F and attenuation is 3 dB/100 ft.

The effective antenna temperature incorporates both the antenna noise temperature as
well as that due to the antenna physical temperature at the terminals.
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